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1  
Average monthly spending less than ($) Cumulative frequency 

0 0 
200 6 
400 17 
600 35 
800 68 
1000 120 
1200 160 
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The distribution is skewed to the left. 
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2(b) Let A be the event of selected employee is aged 45 or below. 
Let B be the event of selected employee has the qualification of MBA. 
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2(c) Let A be the event of selected staff is satisfied with the working environment 
Let 1 2 3, ,B B B  be the event of selected staff works in Hong Kong Island, Kowloon 
and New Territories, respectively. 
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3(a)(i) Let X be the daily cash withdrawal amount from this ATM. 

2~ (500000, 200000 )X N   

(380,000 800,000) ( 0.6 1.5)
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3(a)(ii) Let m be the minimum amount needed. 

( ) 0.1P X m> =  500000( ) 0.1
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Let Y be the number of days having a cash requirement of at least $400,000 each 
out of 100 days.  ~ (100,0.6915)Y b  
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Normal approximation can be used.   
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3(b)(i) Let X be the number of visits to museums paid by a tourist of a certain city. 
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4(a) Let X be the period of time (days) that an American tourist stays in Country A. 
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Therefore, a 99% confidence interval for the mean expenditure of all French tourists 
is: 

899.64652383.125 3.499 (1270.1873,3496.0627)(  )
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4(c) Let p  be the sample proportion of the companies that have investments in Country 

A. 

Then we have  579 .
1194

p =   A 98% confidence interval for the population proportion 
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